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log L* CIELAB lightness
L*
. - 16 (Y,=100, 1< Y < 100)

log (L*/L* ) CIELAB lightness

L¥/L* L* normalized to the
100 background lightnessL* ,

L*= 116(Y/Y,) - 16 (Y,=100, 1= Y<100)  [1b

log L* CIELAB lightness

L*y

logAY  CIE tristimulus value difference AY

AvL*= 116(Y/Y,)"* - 16 (¥,=100, 1< Y < 100) [1c]
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AyL*=116(Y/Y,)
100dY = (3/116) (Y/Y,)

- 16 (Y,=100, 1< Y < 100)

=

1 Y,=18 dY,=0,83, (Y/Y,)=0,045
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logAY  CIE tristimulus value difference AY YIAY,)  CIE tristimulus value difference
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dY = b (YY) [4d]
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log AY/Y)
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CIE Y sensitivity
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dY/Y,=0,04 m;=-0,33

Y,=18, dY,=0,83, (IY/Y,)=0,045

log [(AY/Y) I (AY/Y),]  CIE Y sensitivity

/S, =(AYY)IAY/Y), normalized to AY,/Y,,
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-1 0 1 2 logY
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L*= 116(Y/Y,) % - 16 (Y,=100, 1= Y<100)  [la] 24 100dv = (3/116) (zvg/\(n)z’3 [2c]
dy = a (Y/Y,)? [3c]
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dviy=cy ¥ ) [3e] vidv=e (YY) [3d]
-1/3 —f.
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log (Y/AY) CIE Y-based contrast
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TUB-test chart eer7; Calculated for the LABIJND colour-difference formula, see CIE 230:2019
log[lightnessL*, thresholdAY, sensitivityAY / Y,contrastY /AY,unnormaliz
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